[ dn,do

ch

[N

Ratio to CDF

2.5

1960 GeV ppbar

Underlylng Event

= T [T 1 5 L L L B B BN B I w2

— -
—Average Charged Partlcle DensityTRNS) (n| < 1, p_> 0.5 GeV) >
— 1=
- = CDF | 8
— --1-- Herwig 7.2.0 default N
~  —a— Pythia 8.176 default 1=
4 Sherpa 1.4.5 default e
- - 12
B e
L : o
— : <
: ™
| : 1o
I : — ™
| : |
B : =
B ¢ 4%
— =3,
- s
- EyEEEEEEE m B g N @ g @ o, ® _|c
: | ()
B | 18
N m e
: o
Ly | | P R R R | P R R R ] -

T . T T | T T T T | T T T T |:
42

-
1

—0.5
P O R T T SR R T SR S T
200 300 400

pT(Ieadlng jet) / GeV



	Contents
	Page 1


